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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)138 (B)156 (C)141 (D) 139 (E)None of these

What value should come in the place of question mark(?)in the following questions.

36 × 1.75 + 24 × 3.25 = ?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

What value should come in the place of question mark(?)in the following questions?

444 ÷ (16 × 1.5)  = ?

(A)14.5 (B)16.5 (C)12.5 (D)15.5 (E)None of these
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A) 50 (B)75 (C)60 (D) 55 (E)None of these

What value should come in the place of question mark(?)in the following questions?

= ?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)1472 (B)1481 (C)1521 (D)1461 (E)None of these

What value should come in the place of question mark(?)in the following questions?

2552 ÷ 97 + 34 × 43 − 96 + 69 = ?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)37 (B)41 (C)39 (D) 36 (E)None of these

What value should come in the place of question mark(?)in the following questions?

5616 ÷ 18 ÷ 8  = ?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)1877 (B)1977 (C)1907 (D)2077 (E)None of these

What value should come in the place of question mark(?)in the following questions?

467 + 346 + 734 + 124 + 206= ?

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)600 (B)500 (C)200 (D)400 (E)300

What value should come in the place of question mark(?)in the following questions?

1216 of  25% + 416 of  75% − 216= ?  
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)185.83 (B)190.83 (C)189.83 (D)180.83 (E)None of these

What value should come in the place of question mark(?)in the following questions?

23.43 + 34.54 +76.34 + 42.34 + 13.18 = ?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)1626 (B) 1534 (C)1636 (D)1736 (E)None of these

What value should come in the place of question mark(?)in the following questions?

27 ² + 36² − 17 ²= ?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)2821 (B)2701 (C)2801 (D)2811 (E)None of these

What value should come in the place of question mark(?)in the following questions?

16³ − 1216 − 316 ÷ 4 = ?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

Directions (Q. 16-20):-Read the following information carefully to answer the questions 

asked Number of fruits (apples and mangoes) in thousands sold out from various 

methods in a year. पूछे गए प्रश्न ों के उत्तर देने के लिए लनम्नलिखित जानकारी कन ध्यान से पढ़ें एक वर्ष म़ें

लवलिन्न तरीकन ों से लिकने वािे हजारन ों फिन ों (सेि औरआम) की सोंख्या।
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)520000 (B)625000 (C)350000 (D)530000 (E) None of these

What is the difference between the total number of fruits sold out from A method and the 
total number of fruits sold out from E method?
A लवलि से िेचे गए फिनोंकी कुि सोंख्याऔर E लवलि से िेचे गए फिनोंकी कुि सोंख्या के िीच का
अोंतर लकतना है?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)102% (B)104% (C)99% (D)78% (E) None of these

The number of apple sold out from A method and B method together is what percent of the 
number of mangoes sold out from C method and D method. together? (Approximate)
A लवलिऔर B लवलि से लमिाकर िेचे गए सेिन ों की सोंख्या, C लवलिऔरD लवलि से िेचे गएआमनों
की सोंख्या का लकतना प्रलतशत है। साथ म़ें? (अनुमालनत)
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)13% (B)18% (C)15% (D)12% (E) None of these

The number of mangoes sold out from C method is approximately what percent the total 
number of mangoes sold out from all the method together?
C लवलि से िेचे गएआमनोंकी सोंख्या, सिी लवलियन ों से लमिाकर िेचे गएआमनोंकी कुि सोंख्या का
िगिग लकतना प्रलतशत है?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)455000 (B)111000 (C)555000 (D)556000 (E) None of these

What is the average number of fruits (apples & mangoes) sold out from all the methods 
together?
सिी लवलियन ों से लमिाकर िेचे गए फिनों (सेिऔरआम) कीऔसतसोंख्या लकतनी है?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)95:68 (B)17:20 (C) 34:45 (D)45:34 (E) None of these

What is the respective ratio of the total number of apples to the total number of mangoes 
sold out from all the method together?
सिी लवलियन ों से लमिाकर िेचे गएआमनोंकी कुि सोंख्या से सेिन ोंकी कुि सोंख्या का सोंिोंलित
अनुपात लकतना है?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

What should come at place of the question mark (?) in the following number series ?

11 . 17 , 98 , 26 , 89 , 35   ,   ?  

(A)80 (B)75 (C)60 (D)70 (E)None of these
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

What should come at place of the question mark (?) in the following number series ?

12 . 2 , 17 , 89 , 359 , 1079 , ?

(A)2269 (B)2159 (C)2834 (D)2765 (E)None of these
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

What should come at place of the question mark (?) in the following number series ?

13 . 3 , 5 , 15 , 45 , 113  , ?  

(A)222 (B)233 (C)243 (D)281 (E)None of these
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

What should come at place of the question mark (?) in the following number series ?

14 . 7 , 4.5 , 5.5 , 12 , 49  , ? 

(A)303 (B)363 (C)383 (D)393 (E)None of these
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

What should come at place of the question mark (?) in the following number series ?

15 . 3240 , , 540 , 108 , 27 , ? , 4.5 

(A) 9 (B)6 (C)7 (D)8 (E)None of these
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)15 (B)14 (C)18 (D)16 (E)12

Q.16 :-Meenu has some money. She can buy 40 books or 90 pens with it. She keeps 20% of  
the money for food and with the remaining buys 36 pens and some books. Find the number 
of books she buys.
मीनू के पास कुछ पैसे हैं। वह इससे 40 लकताि़ें या 90 पेनिरीद सकती हैं। वह 20% पैसे िाने के
लिए रिती हैऔर शेर् के साथ 36 किमऔर कुछ लकताि़ें िरीदती है। उसके द्वारा िरीदी गई
पुस्तकनोंकी सोंख्या ज्ञातकीलजए।
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A) 25:16 (B)16:25 (C)36:25 (D)49:36 (E)None of these

Q.17:-A fruit vendor sells apples and oranges and gets equal revenue from each. He gets ma 
profit of 20% on each apple and a profit of 25% on each orange. If the ratio of the number 
of oranges sold to the number of apples sold is 3:2, what is the ratio of the cost price of an 
orange to that of an apple?
एकफि लवके्रता सेिऔरसोंतरे िेचता हैऔर प्रते्यक से समान राजस्वप्राप्तकरता है। उसे
प्रते्यक सेि पर 20% का िािऔरप्रते्यकसोंतरे पर 25% का िाि प्राप्तहनता है। यलद िेचे गए
सोंतरन ोंकी सोंख्याका िेचे गए सेिन ोंकी सोंख्या से अनुपात 3: 2 है, तन एकसोंतरे के िागत मूल्यका
एक सेि के क्रय मूल्य से अनुपातक्या है?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

Q.18 :- In how many ways can the walls of a cuboidal box be painted using six different m 
colours using one colour for each wall if six different symbols are carved on the box with 
one on each wall?
यलद प्रते्यक दीवार पर एक के साथछहअिग-अिगप्रतीकन ोंकन िॉक्सपरउकेरा गया है, तन
प्रते्यक दीवार के लिए एक रोंग का उपयनगकरके छहअिग-अिग रोंगन ोंका उपयनगकरके एक
घनाकार िॉक्सकी दीवारन ोंकन लकतने तरीकन ों से लचलित लकया जा सकता है ?

(A) 240 (B)560 (C)720 (D)360 (E)180
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)4km/h,9km/h (B)8km/h, 5km/h (C)9km/h, 4km/h (D)5km/h, 8km/h (E)10km/h, 3km/h

Q.19 :- Rohit can row a boat 65Km upstream and 130Km downstream in 23 hours, whereas 
m he can swim 45Km upstream and 104Km downstream in 17 hours. Find the speed of 
boat in still water and the speed of stream.
रनलहत एकनावकन िारा के प्रलतकूि 65 लकमीऔरिारा के अनुकूि 130 लकमी 23 घोंटे म़ें तैर
सकता है, जिलक वह िारा के प्रलतकूि 45 लकमीऔरिारा के अनुकूि 104 लकमी 17 घोंटे म़ें तैर
सकता है। शाोंत जि म़ें नावकी गलतऔरिारा की गलत ज्ञातकीलजए।
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)33/455 (B)34/455 (C)44/455 (D)47/455 (E)None of these

Q.20 :- A box contains 4 red, 5 black and 6 green balls. 3 balls are drawn at random. What is 
the probability that all the balls are of same colour?
एकिॉक्सम़ें 4 िाि, 5 कािीऔर 6 हरी ग़ेंद़ें हनती हैं। 3 ग़ेंदन ोंकन यादृखिकरूप से लनकिा लकया
गया हैक्या सोंिावना है लकसिी ग़ेंद़ें एक ही रोंग की हैं?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)4 1/3 (B)5 1/3 (C)6 1/3 (D)3 1/3 (E)None of these

Q.21 :- A tank has 2 pipes. The first pipe can fill it in 4 hours and the second can empty it in 
16 hours. If two pipes are opened together at a time, then the tank will be filled in.
एकटैंक म़ें 2 पाइप हैं। पहिा पाइप इसे 4 घोंटे म़ें िर सकता हैऔर दूसरा इसे 16 घोंटे म़ें िािीकर
सकता है। यलद एकिार म़ें दननन पाइप एकसाथिनिे जाते हैं, तन टैंक लकतने समयम़ें िरजाएगा।
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)33.33% (B)42.85% (C)28.56% (D)16.66% (E)None of these

Q.22 :- Mr. Sangram's salary was reduced by 25% for three months. But after the three 
months, his salary was increased to the original salary. What is the percentage increase in 
salary of Mr. Sangram?
श्री सोंग्रामका वेतन तीन महीने के लिए 25% घटा लदया गया था। िेलकन तीन महीने के िाद, 
उनका वेतन मूि वेतन म़ें िढा लदया गया। श्री सोंग्राम के वेतन म़ें प्रलतशत वृखिक्या है ?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)200 (B)250 (C)300 (D)180 (E)None of these

Q.23 :- A, B and C rent a pasture. A puts 15 cows for 6 months, B puts 20 cows for 4 months 
and C puts 10 cows for 8 months for grazing. If the rent of the pasture is Rs 500, how much 
must A pay as his share of rent? 
A, B औरC एकचारागाह लकराए पर िेते हैं।A, 6 महीने के लिए 15 गाय़ें डािता है, B, 4 महीने के
लिए 20 गाय़ें डािता हैऔरC 8 महीने तकचराई के लिए 10 गाय़ें डािता है। यलद चारागाहका
लकराया 500 रुपये है, तनA कन उसके लहसे्स के लकराए केरूपम़ें लकतना िुगतानकरना हनगा?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

Directions (Q. 26-30):Direction for Question

Study the following graph carefully to answer the question: (The data below is given in 

hundreds)     The graph shows the number of bike sold from two shops.

प्रश् का उत्तर देने के लिए लनम्नलिखित ग्राफ का ध्यानपूवषक अध्ययन कऱें :(नीचे लदया गया डेटा

सैकडन ों म़ें लदया गया है ) ग्राफ दन दुकानन ों से िेची गई िाइक की सोंख्या कन दशाषता है।

12.5

15

22.5
20

22.5

15

15

10

22 22.5
25

17.5

0

5

10

15

20

25

30

Monday Tuesday Wednesday Thursday Friday Saturday

A B

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)1867 (B)1826 (C)1838 (D)1857 (E)1860

Q.26 :-What is the approximate average number of bikes sold by Shop B during all the days 
together?

शॉप B द्वारा सिी लदनन ों म़ें एकसाथ िेची जाने वािी िाइक्सकीअनुमालनतऔसतसोंख्याक्या
है?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)15% (B)11% (C)18% (D) 9% (E)20%

Q.27 :-The number of bikes sold by Shop B on Friday is what percent of the total number of 
bikes sold by both Shop A and B on all the days together? (Rounded off to the nearest 
integer)
शॉप B द्वारा शुक्रवारकन िेची गई िाइक्सकीसोंख्या, शॉपA और B दननन ों द्वारा िेची गई िाइक्स
की कुिसोंख्याका सिी प्रलतशत एकसाथ लकतने लदनन ों म़ें है? (लनकटतम पूर्ाांक तक)
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)2:3 (B)3:4 (C)4:3 (D)5:4 (E)7: 2

Q.28 :- What is the respective ratio of the number of bikes sold by Shop A on Thursday to 
the number of bikes sold by Shop B on Monday?
शॉपA द्वारा गुरुवारकन िेची गई िाइक्सकीसोंख्याका सोंिोंलितअनुपातसनमवारकन शॉप B द्वारा
िेची गई िाइक्सकी सोंख्या सेक्या है?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)13: 15 (B)16:19 (C)19:15 (D) 19 : 17 (E) 17:21

Q.29 :- What is the respective ratio of the total number of bikes sold on Friday to the total 
number of bikes sold on Thursday?
शुक्रवारकन िेची गई िाइककी कुिसोंख्या गुरुवारकन िेची गई िाइककी कुिसोंख्याका
सोंिोंलितअनुपातक्या है?
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1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)125.34% (B)132.67% (C)143.89% (D)140% (E)138.5%

Q.30 :-The total bikes sold by Shop B on all days excluding Wednesday is what percent of 
the total number of bikes sold on Thursday, Friday and Saturday together?
शॉप B द्वारा िुिवारकन छनडकरसिी लदनन ों म़ें िेची गई कुि िाइक्स गुरुवार, शुक्रवारऔर
शलनवारकन एकसाथ लिकने वािी िाइकन ोंकी कुिसोंख्याका लकतना प्रलतशत है?
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(A)36 (B)60 (C)56 (D)65 (E) None of these

Q.21 :- 16 men working 9 hours in a day can finish their work in 28 days. How many men 
are required when working 6 hours in a day to finish the same work in 12 days?
16 आदमी एक लदन म़ें 9 घोंटे काम करते हुए 28 लदनन ों म़ें अपना कामित्मकर सकते हैं। उसी
काम कन 12 लदनन ों म़ें पूरा करने के लिए एक लदन म़ें 6 घोंटे काम करते समय लकतने पुरुर्न ोंकी
आवश्यकता हनगी?
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(A)300 (B)360 (C)420 (D)450 (E) None of these

Q.22 :- Rs 1440 were distributed among A,B,C and D in such a way that C and D together 
gets half of what A and B together gets and C gets one third amount of B. Also D gets 5/3 
times as much as C. what is the amount of A?
A,B,C औरD के िीच 1440 रुपये इस प्रकार लवतररत लकए गए लक C औरD कन एक साथ A और B 
कन लमिाकर प्राप्त हनने वािी रालश काआिा प्राप्त हनता है और C कन B की एक लतहाई रालश
लमिती है। साथ हीD कन C से 5/3 गुना अलिक लमिता है। A की रालशक्या है?
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(A)8 (B)6 (C)5 (D)9 (E) None of these

Q.23 :- How many cube can be cut of side 3 cm. from the cube of 6 cm?

6 सेमी के घन म़ें से 3 सेमी िुजा वािे लकतने घन काटे जा सकते हैं?
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(A)43.25% (B)45.24% (C)39.45% (D)47.15% (E) None of these

Q.24 :- Perimeter of a square is decreased by 24% find the percentage change in its area?
एक वगष के पररमाप म़ें 24% की कमीआई है, उसके के्षिफि म़ें लकतने प्रलतशत पररवतषन हुआ
है?
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(A)25km/h (B)30km/h (C)35km / h (D)10km/h (E) None of these

Q.25 :- A man can row a boat upstream at the speed of 8 kmph and downstream at the 
speed of 12 kmph . At what speed he can row in still water ?
एकआदमी एक नाव कन िारा के प्रलतकूि 8 लकमी प्रलत घोंटे की गलत से और िारा के अनुकूि
12 लकमी प्रलत घोंटे की गलत से नाव चिा सकता है। वह लकस गलत से शाोंत जि म़ें नाव चिा
सकता है?
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Directions (Q. 26-30):Direction for Question

Study the following bar graph carefully and answer the questions accordingly.

Following graph gives the demand and production of mobile phones of five companies 

A, B, C, D and E
लनम्नलिखित िार ग्राफ का ध्यानपूवषक अध्ययन कऱें और उसके अनुसार प्रश्न ों के उत्तर द़ें। लनम्नलिखित ग्राफ पाोंच
कों पलनयन ोंA, B, C, D और E के मनिाइि फनन की माोंग और उत्पादन कन दशाषता है
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(A)71.4% (B)85% (C)140% (D)66.67% (E)None of these

The production of company B is approximately what percent of the demand?

कों पनी B का उत्पादन माोंग का िगिग लकतना प्रलतशत है?
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(A)6200 (B)50000 (C)62000 (D)52000 (E)None of these

What is the average production of mobile phones by all the companies?

सिी कों पलनयन ों द्वारा मनिाइिफननकाऔसत उत्पादन लकतना है?
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(A)A and D (B)B and E (C) D and E (D) B and A (E)None of these

The production of mobile phones by company C is the same as the production of which of 
the following pairs of the companies?
कों पनी C द्वारा मनिाइिफननका उत्पादन कों पनी के लनम्नलिखित म़ें से लकसजनडे के उत्पादन के
समान है?
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(A)30% (B)65% (C)83.3% (D)40% (E)None of these

The demand of company E is approximately what percent of the demand of company D?

कों पनी E की माोंग कों पनीD की माोंग का िगिग लकतना प्रलतशत है?
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(A)B (B)C (C) D (D)E (E)None of these

To meet its demand the company A wishes to buy the surplus mobile phones from a single 
company. Which of the following companies can supply?
अपनी माोंग कन पूरा करने के लिए कों पनी ए एक ही कों पनी से अलिशेर् मनिाइिफननिरीदना
चाहती है। लनम्नलिखित म़ें से कौन सी कों पनीआपूलतष कर सकती है?
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(A)900 (B)850 (C)920 (D)960 (E)None of these

Fresh fruits contain 75% while dry fruits contain 20% water. If the weight of dry fruits is 
300 kg, what was its total weight when it was fresh?
ताजे फिन ों म़ें 75% जिलक सूिे मेवन ों म़ें 20% पानी हनता है। यलद सूिे मेवन ों का वजन 300 लकग्रा
है, तन ताजा हनने पर इसका कुि वजन लकतना था?
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(A) 15 (B) 16 (C)17 (D)18 (E)None of these

At the party there is a total of 120 handshakes. If all the persons shake hands with every 
other person. Then find the number of a person present at the party.
पाटी म़ें कुि 120 हैंडशेक हैं। अगर सिीव्यखि हर दूसरे व्यखि से हाथ लमिाते हैं। तन पाटी म़ें
उपखथथतव्यखिकी सोंख्या ज्ञात कीलजए।
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(A) 132 (B)120 (C)123 (D)100 (E)None of these

A person sold an electronic watch at Rs. 96 in such a way that his percentage profit is the 
same as the cost price of the watch. If he sells it at twice the percentage profit of its previous 
percentage then find the new selling price. एकव्यखि ने एक इिेक्ट्र ॉलनक घडी रु. 96 इस
प्रकार है लक उसका प्रलतशत िाि घडी के क्रय मूल्य के समान है। यलद वह इसे इसके लपछिे
प्रलतशत के िाि के दुगुने प्रलतशत पर िेचता है तन नया लवक्रय मूल्य ज्ञात कीलजए।
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(A)5.2 (B)3.7 (C)2.8 (D)1.4 (E)CND

Q.36 :-The different between downstream speed and upstream speed is 2 kmph and the 
total time taken during upstream and downstream is 2 hours. What is the upstream speed, 
if the downstream and upstream distance are 2 km each?अनुप्रवाह गलतऔर िारा के
प्रलतकूि गलत के िीच का अोंतर 2 लकमी प्रलत घोंटा है और िारा के प्रलतकूिऔरअनुप्रवाह के
दौरान लिया गया कुि समय 2 घोंटे है। िारा के प्रलतकूि गलतक्या है, यलद अनुप्रवाहऔर िारा के
प्रलतकूि दूरी प्रते्यक 2 लकमी है?
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(A)7570 (B) 6400 (C)7560 (D)7150 (E)None of these

Q.37 :-Shikha and Shreya invested in the ratio 7: 8 in a business. They got an annual profit 
of Rs 34450. If Shikha withdrew her entire money at the end of 9 months, then what is the 
difference between their shares of profit? लशिाऔर शे्रया ने एकव्यवसाय म़ें 7:8 के अनुपात
म़ें लनवेश लकया। उन्ह़ें 34450 रुपये का वालर्षक िाि हुआ। यलद लशिा ने 9 महीने के अोंत म़ें
अपना पूरा पैसा वापस िे लिया, तन उनके िाि के शेयरन ों के िीच का अोंतरक्या है?
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Direction (31 to 35 ):- In each question two equations numbered (I) and (II) are 
given. You have to solve both the equations and mark appropriate answer.

(a) If x > y 

(b) If x < y 

(c) If x ≥ y 

(d) If x ≤ y

(e) x = y or no relation can be established 
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Q.31 :- I. x³ = 1331                                   II.  y³  =1728

Q.32 :- I. 2x2 + x − 1 =0                            II.  2y2 −3 y+1= 0

Q.33 :- I. x²+11x + 30 = 0 II. y²+ 12y +36= 0

Q.34 :- I. 6x²+ 51x+ 105=0 II. 2y2 +25y + 78 = 0

Q.35 :- I. 6x + 7y =52 II. 14x + 4y =35
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